3 Al

A

FAM: SR
. AMHJ= HATBEH 1S
Chel: SAE I MHIA KA (&2 &)
MNuE o
N33 . c2(3H) - NEME - HES re '@,‘;OH Hns
S22 15,512,509 14,787,905 724,604
== 39,129
Al 15,473,380
ddSEU= dEHE 2E 4,586,648 3,050,574 1,536,074
== 11,329
Al 4,575,319
FEl HAEAMHIA XI& 587,330 298,980 288,350
A AMBIA sFA XI& 5,330 5,330 0
201 Et29h| 5,330 5,330 0
01 AtR22tell 1,330 1,330 0
O#ZYMHIASZE Ao A
700,000& 700
OHFFTEZN AlRAS HA&4Y
630,000 630
02 s394l 4,000 4,000 0
Oo&Ex 74l 4,000,000& 4,000
IS2 JIS2 22l 427,200 152,450 274,750
201 Let29H| 94,800 84,450 10,350
01 AtR22teldl 15,000 11,250 3,750
O2011d 222 23 M
16,0003 *7502 12,000
OJIEZE HIIHIE =2 3,000,000& 3,000
02 332gH| 79,800 73,200 6,600
OsY 2223 24,000,000 24,000
OFXZMN ¢« g2z IS
1,000,000& *12& 12,000
OXXZ AP,DBAE & OraclemrXIE+2
1,750,000& x12& 21,000
OXga Tz )8 SANE+Z 350,000& 122 4,200
OXg& OraclegAE2E2 400,000 128 4,800
Ok & HAMNH SAEES
1,150,000& x12& 13,800
202 (4l 3,000 3,000 0
01 =2l 3,000 3,000 0
O2AMALsS 3,000,000& 3,000
207 Ao 282,500 0 282,500
02 & AHHEH] 282,500 0 282,500
EQRIIES Hitg D/BREZAY
282,500,000 282,500
401 AEHIZ 2] 16,400 0 16,400
01 Al&HI 16,400 0 16,400
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MR Fmegs MEHY A
ol SaE #HEAMHIA X (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
A H 9 FAY - BES &5 Ofl & 04 ree
OJIE2 =285 E&XHIISA
4,000, 000& 14 4,000
OJE2(MD)EEAEM #IIX &X
6,200, 000& *22= 12,400
405 KHAHFESHI 30,500 65,000 A 34,500
01 T ESHSHI 30,500 65,000 A 34,500
OJIg2(MD) 2880 7
12,000,000 *2CH 24,000
OJIE& (M) ME 2 6,500, 000& 6,500
e2tal 2H 12,000 12,000 0
201 LBt A 12,000 12,000 0
01 AtS 22/l 12,000 12,000 0
Ogzta 23| 12,000,000& 12,000
FAtE et 2| 138,800 125,200 13,600
201 Let2d| 132,200 117,200 15,000
01 AtS 22/l 108,600 97,000 11,600
Oogdls+d 95,600
-2 & 50,0003 x4 113 22,600
-=Z 50,0003 x4 365 73,000
Ogaa2d| 13,000
-5 ME= 8,000, 000& 8,000
-JIE 2a 5,000, 000& 5,000
02 =234l 23,600 20,200 3,400
OFARUIHIANAEH A=
1,400,000& 123 16,800
OCCTVAIAE! SXI2= 400,000 128 4,800
OXlz )| FRNE= 2,000,000& 2,000
401 A &EHIYL 2048 6,600 8,000 21,400
01 Al&t| 6,600 8,000 A 1,400
O23 FAIEQAIAE 2 6,600
-2 A2AT| W 1,200, 0003 *34! 3,600
-=% CCTVItOlct 1,000,000 *3CH 3,000
FH 22X 2el 4,000 4,000 0
202 O4Hl 4,000 4,000 0
01 =LA bl 4,000 4,000 0
O=SRNCLENHARF 4,000,000 4,000
otd 2 oE 22 1,431,233 505,134 926,099
= 8,586
Al 1,422,647
=22 2 JE2Y #HAKA 73,850 66,650 7,200
201 Let2IH| 28,150 20,750 7,400
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01 AtR2t2ldl 12,600 11,200 1,400
OH=21 & A7 7,000 x1,8007H 12,600
03 HA2ZH| 15,550 9,550 6,000
OAlIRIol & AL 9,550
-Aelel & AIH 500,000& 5H 2,500
-AlBIe D1 E A 6,000,000 6,000
NBIO B AAF HEE BAAY
1,050,000& 1,050
OHNE FHYA SMAFE H Bl
6,000,000& 6,000
202 O4H| 4,800 4,800 0
01 =LA b 4,800 4,800 0
OO &2l 4,800,000& 4,800
203 HRF&Y| 18,000 18,000 0
03 AIMFEHRF=EIH| 18,000 18,000 0
OFLAEAMFA 18,000,000& 18,000
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10 EALAHIZEA S 6,700 6,700 0
OAlBle & D|gAl S#AIXIR Y ot SHE
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O3.12 Y 2=Z AEIAL B4 900,000 900
307 gI2told 16,200 14,400 1,800
05 CIZtRIEZ 16,200 14,400 1,800
OE&H JI2I| ALY Q&
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01 AtE22|Hl 21,250 18,850 2,400
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ONELE RS S22 S HZE 200,000 *5H 1,000
OFFH M 30,000& 500 15,000
OZUMAE S MZ 100,000& *10H 1,000
ONMARZFA 222 &X 1,500,000& 1,500
202 4| 2,000 2,000 0
01 =LA b 2,000 2,000 0
OUHA & Hl&tiH HRFA 2,000,000& 2,000
203 HRF&H| 94,000 94,000 0
03 AIMFAZRFAH| 94,000 94,000 0
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el Moty o ofE e (Sl &2)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 il b o B2
SEPEEEST 2,000,0002 2,000
308 XX SIS 0| F 1,059,732 94,304 965,428
08 JlEtRE 2 1,059,732 94,304 965,428
020101 HI58) HRSAXILSHH &AL 1,059,732
-EH 2 AN 153,217,002 153,217
-AH, A5 9,315,0002 9,315
RISl 897,200,0002 897,200
M55l MREAINLLH 22Z| 17,171 0 17,171
= 8,586
Al 8,565
101 o121l 1,920 0 1,920
= 960
Al 90
04 JIAH2ZS LS 1,920 0 1,920
OR5El HISAIXIAH 1218 1,920,008 1,920
= 960
Al 90
201 Yot | 9,278 0 9,278
= 4,639
Al 4,639
01 AFR 22| 7,547 0 7,547
OS5 MIEAXNLLH Lerrg)
4,411,0002 4,411
= 2,206
Al 2,205
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2,667,000%! 2,667
= 1,334
Al 1,333
FEHR N 9,000 0 9,000
201 LEt=EH| 9,000 0 9,000
01 At22t2lH 9,000 0 9,000
Ooxetas K& 9,000,000& 9,000
Atz e XX 25,000 0 25,000
402 2Iz2tt=0ld 25,000 0 25,000
01 It ELEL 25,000 0 25,000
Odlg8 83 &Y 25,000,000& 25,000
SR dgdet N 1,047,467 987,945 59,522
QIAH & A& 2 71,876 89,338 A17,462
101 1A 32,736 72,838 A40,102
04 JIZtHZ2NSE=> 32,736 72,838 240,102
OJI2tH 22 XH(2502 01 &M EI X S
1,200,000& »5& 6,000
OSMFIHFOFA )X e 26,736
-Jl=s 33,4003 x2& »250 16,700
=5+ 33,4003 x2H »525= 3,474
ERPN =) S 33,400 x2H *12& 802
- MG A 80,000 «2H x12& 1,920
- S22 4] 60,000 «2Z «12& 1,440
-EI8= 1,200,000& »2& 2,400
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01 AtS2t2iHl 34,140 13,500 20,640
odd & gE& 3,000,000& 3,000
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OCA?I 3 a H&E 3,500,000& 3,500
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OANE=2H EH=+E 5,000,000& 5,000
O=8lls ZLAS M 10,0002 *1000H 1,000
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Ok AY === 10,000,000 10,000
202 Oddl 5,000 3,000 2,000
01 =LHOYI 5,000 3,000 2,000
OXA & QANHRFA 3,000,000& 3,000
Osd3XNE 2,000,000& 2,000
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SN B2
HE: WY HABF 2
o9 PR AL X (S5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
SEFIEEE] 484,583,000 484,583
sM=T =7 1,400,810 1,126,956 273,854
SMET| AKX 268,000 227,000 41,000
201 Yot Y| 261,000 225,000 36,000
01 Attt 261,000 225,000 36,000
OZAX &0l8 A& 150,000,000 150,000
OZXAD| BRARVLHSHE K
15,000,0002 15,000
OXFols YW YIS 200,000 «45% 9,000
OXF#0I8 22N 30,000, 0002 30,000
OZLANIHS 45,000, 0002 45,000
OA.2 =22 MSHs U 2,000,002 2,000
OALAR FIIAA HBAH X
10,000,0002! 10,000
202 01t 2,000 2,000 0
01 =Uj0i | 2,000 2,000 0
OSMEX Y AREX 2,000,002 2,000
405 XHAHE SHI 5,000 0 5,000
01 RMUSESH S| 5,000 0 5,000
ONE 8AX BYBIAS 155 5,000
ol 3,000,00024 3,000
~HIXI B A 9145 2,000,00024 2,000
228 HER =SXXA 868,900 642,000 226,900
201 Yereg| 55,000 0 55,000
01 Attt 55,000 0 55,000
O2UHHS HeZ2R IS DY 55,000
~USSAE U XSCHOIA OIS 5
5,000,0002 55,000
303 Ea3 813,900 642,000 171,900
01 maZ 813,900 642,000 171,900
OBLAMUNSTHESY 980,000 +655% 641,900
02000 BRAH ST 2 (H L)
5,000,0002! 5,000
020108 T2 ©X SXHPE  167,000,0008 167,000
AT 282 X 83,910 85,956 A2,046
303 TaZ 83,910 85,956 A2,046
NERE] 83,910 85,956 A2,046
Oz Y 282 X 83,910
~OAl 191,5002 x2 % * 122 4,596
-1l 168, 5002 x3 * 122 6,066
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MY HIBE P
M=3 =7

N B .S (3 H) - MIBEAY - BHA2 A} OH &EIE Hn=2
o=\ T ° - = S = =5 0:”/&,% Lsa
—2A| 139,000& x8H «12& 13,344
-3Al 95,0002 *10H «12& 11,400
0N~ FHEA 86,0003 »47H «12& 48,504
S&A oA X 180,000 172,000 8,000
202 4| 180,000 170,000 10,000
03 2ALR0YI 30,000 30,000 0
O22=20d 30,000,000& 30,000
04 =H=2tedl 150,000 140,000 10,000
O32=220Hd 70,000,000& 70,000
O32R2 =2t 2,000,000 =40 80,000
FORXIHE 23t 47,700 37,600 10,100
ANXHE s Y 22IXMEH ASHKIA 32,700 22,600 10,100
201 LBt H| 20,900 13,400 7,500
01 AtR2t2ldl 10,900 13,400 A2,500
OFUXNX KA LA =& S 3,200,000 3,200
Osotel ZHtisl &It JIEtE Sl
80,0003 *x30H »23| 4,800
Od= F0IXX Sotel ZHa &It 834
50,000& x30H 1,500
Oxzgddz (s &I S)
700,000& »23| 1,400
03 dArZEHI 10,000 0 10,000
OFeIXE /A3 10,000, 000& 10,000
202 44| 2,000 2,000 0
01 =LA b 2,000 2,000 0
02+ ZONIME s S A2xW
2,000,000& 2,000
301 LEEA S 9,800 7,200 2,600
10 At HIE& 3 9,800 7,200 2,600
OZDIRAIEOIE 24 ZOIRXIME 218t
3,000,000 3,000
Os0tel EAial &It 30,0003 *x30H »23| 1,800
Od= FLUNXIME 2ets S &It
3,000,000 3,000
O8RS A== &It 2,000,000& 2,000
FOXXHEH T2 2473 15,000 15,000 0
307 212t01& 15,000 15,000 0
04 QUIZHHALE X 15,000 15,000 0
OFUXNXME &S5 LEHI 15,000,000& 15,000
MOIE=2= g4d3t =X 34,837 23,950 10,887
& 2,743
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HH: AWHYS HANBY 7
o9l MOlERS 283 X3 (el &2
_ _ SIEN
SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
Al 32,094
MOE XNEZX s 2 SAKXRA 27,850 22,450 5,400
201 et 8,400 7,000 1,400
01 At 22l 8,400 7,000 1,400
OMOE |1 s3] 7,000,000& 7,000
OXtg UX2(H2 MOISX SIS EIIS)
700, 0002 2CH 1,400
301 etEag 11,450 7,450 4,000
10 ALAHIE &= 11,450 7,450 4,000
OMOtE WS40l 35,0003 +70H 2,450
OMOISXEX S&8X As 5,000,000& 5,000
O&dIZMOESXNEZX Hal &0t 3,000,000& 3,000
O=4 MOIS2SS A HH X8
1,000,000& 1,000
307 2I2H0I 8,000 8,000 0
04 QIHHALE X 8,000 8,000 0
OMOtESXIEX==&A U3l i = 8,000,000& 8,000
MOISXEX SA2sS X 1,500 1,500 0
202 O4H| 1,500 1,500 0
01 WY 1,500 1,500 0
OMOIZDSME S 2= 1,500,008 1,500
CHRSUH(MOISX SR XA 5,487 0 5,487
& 2,743
Al 2,744
301 LetEas 5,487 0 5,487
& 2,743
A 2,744
02 o3 5,487 0 5,487
OSHRTTHMOISNEESS X
5,486,400& 5,487
& 2,743
Al 2,744
S& A& 37,271 55,309 A 18,038
SENH Zeta & A 37,271 55,309 A 18,038
201 YEH2HH| 2,000 1,900 100
01 AtR22/Hl 2,000 1,900 100
O8E 22us 2AM = 600,000& * 13| 600
OXe X2 (SEUE S BAXR)
700,000& »23 1,400
301 et ez 30,271 48,409 A 18,138
02 Zetsdsti=s 16,671 36,259 A 19,588
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B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
OS&HNH Mtz (1SEH)
416,760& *10Z *43| 16,671
10 At HIE& =3 3,450 2,000 1,450
ORFAXIEHM A 2,000,000& 2,000
Os&usE &It 10,0002 * 145 1,450
12 JIEtE 43 10,150 10, 150 0
OS& MoiE2E It 70,000 *145Y 10,150
307 QI2t01™ 5,000 5,000 0
04 QIZHHALE X 5,000 5,000 0
Os& M=tz M=l 5,000,000& 5,000
N Seed d2H 47,700 81,300 A 33,600
olglz =29 37,700 70,300 A 32,600
ol staZ 13,600 17,530 A 3,930
202 O4Hl 1,200 1,200 0
01 =LHO b 1,200 1,200 0
OWblzZ=lEARF=A 1,200,000& 1,200
308 AUXIHMSOIA 12,400 16,330 A 3,930
07 Ol Z2S4XdZ 42X 12,400 16,330 A 3,930
Oolgl=2 2U=2g X& 12,400
-0A0dlZ s 3,000,000& 3,000
-0lBlZ2e & &AL 1,000,000& 1,000
-l =2R2H2Z XA
100,000 * 123 = 70HSCH 8,400
Olgl= 22t XI& 24,100 52,770 A 28,670
403 KX M SK=201H 24,100 52,770 AN28,670
03 dlHlZzs4dXdNEE2x 24,100 52,770 228,670
OgEYR HEIA 20,000
- o 7,500& 1,000 7,500
-8 / Ul 12,0002 50074 6,000
-2 13,0002 50071 6,500
ool uesd XA 4,100
-f0dl2 QHEE 5,000 2004 1,000
-AHtOI'E ZHI R X H 1,500,000& =14 1,500
-HII1&E3] 200,000& »5CH 1,000
A PNUS R 300, 0003 »2CH 600
SXHS2 WA S 10,000 11,000 A 1,000
SXHs Was =& 10,000 11,000 A 1,000
201 ety 10,000 11,000 A 1,000
01 AtR2t2ldl 10,000 11,000 21,000
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SN HI4ERA SAH 7,000,000 7,000
SXos ABTES o W2H 2,000,000 2,000
OSXesd SA S URE  1,000,0008 1,000
RN 6,000 6,000 0
= 1,800
Al 4,200
s8N0 920 LRAN 6,000 6,000 0
= 1,800
Al 4,200
9RQ 22X HE2SAE X 6,000 6,000 0
= 1,800
Al 4,200
301 YBrEAZ 6,000 6,000 0
= 1,800
Al 4,200
10 BAAHIE A2 6,000 6,000 0
OQIRQ22N S22 HEX  6,000,0008 6,000
= 1,800
Al 4,200
DESXNAL A5 2,034,801 2,437,920 £403,119
BS D DSAY 2= 1,794,802 1,858,063 163,261
ROEES DS 1,794,802 1,858,063 163,261
201 Ygr2g| 2,520 2,520 0
01 AtR2elt| 2,520 2,520 0
ONSSHIWLSHAN ALY
70,0008 %128 x33] 2,520
202 01t 2,000 4,000 A2,000
01 =Ujoit] 2,000 4,000 A2,000
ORSFY L HIZASD SYYLE
2,000, 0002 2,000
308 X+XIEHHI SOl & 1,790,282 1,840,543 A50,261
06 RSN EEZ 1,790,282 1,840,543 £50,261
OAl ®o X2 At 565,600
-Xglel SU, & 2% 32,000,002 %304 2 96,000
-9 S D 2Y 4,800,0002 %1004 2 48,000
~S40S BEY KA 14,000,008 *30H 2 42,000
-ESYOME X 55,400, 000! *4JH 12 221,600
AR X 2,000, 0002 +8 7} & 16,000
~EM oH2I0f8 14X
2,500, 0002 129 12 30,000
-SslZ20Y 2Y(SFAAD)
112,000,0002 112,000
ONEE HSEXAY 604,592
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A SR
g3 WFSAAS Wast

Sl BUSDO DSFH 2 (25l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F K Ol AF o8 Hws2
—ZAlA S2TAHMeED) 36,854,008 36,854
~SANSEUSRBAHESHEYD)
109,662,002 109,662
S SPCU T2 MATVRH (A EED)
15,000, 0002 15,000
~DR LAY (MO E) 19,671,0002! 19,671
~DSYSBHAA(SEHDD)  46,494,0009 46,494
SN NSTIZIUSY(S=2s Y A4DD)
46,911,0002! 46,911
~DI2HHIROIZ0IME T=(N#ED)
330,000,0002 330,000
OFIITEA ALY 620,090
~E2S5D ALY BEDA X
40,000, 0002 *40%+ 104 22 160,000
-E£S5D FOULTDA NP
40,000, 0002 *40%+37H 2 144,000
~E28DOIS)| AYXE
150,000, 0002 *40%+ 1§ 2 60,000
=41 2X¥ NA(XSsD)
14,000, 0002 +30%+67H 12 25,200
“HERXY YU N
5,000, 00021 %25%+1174 13,750
~BUSoNED 29 X8
77,550, 0002 +70%+4 74 3 2 217,140
St ZAIX & 239,999 257,857 A 17,858
stmaal A 239,999 257,857 ~17,858
201 Yer2 YY) 1,680 1,470 210
01 A2l 1,680 1,470 210
OSSN ARAE 4
70,0002 +8 *33] 1,680
308 XHXIEHH SO & 238,319 256,387 18,068
06 DEIIAUHSEEZ 233,319 256,387 A 18,068
OXey, LU0 SAX(HYSASD)
238,319,000% 233,319
ZYSSHH 75 155,380 101,880 53,500
= 26,000
Al 129,380
HMDSA 155,380 101,880 53,500
= 26,000
7 Al 129,380
S 0128 AbeS 41,880 41,880 0
201 LByl 11,880 1,880 0
01 AtR2elt] 11,880 11,880 0
OSFEOIE AHEX & 90,0002 * 122 1,880
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_ _ HE T
M- F2 SR (3) - HIRAY - B e Abou i HIRE
307 2I2tol & 30,000 30,000 0
02 2ItBAE X 30,000 30,000 0
OsF&0ts 30,000,000& 30,000
Bt uX#E 26,500 10,000 16,500
307 2120l & 10,000 10,000 0
02 QltE3AE XL 10,000 10,000 0
OSS& o212 HFUE SN
10,000,000& 10,000
402 QIHE01M 16,500 0 16,500
01 2= X 16,500 0 16,500
OB =Ys SN SAla
16,500,000 16,500
Ol 8ol S04 50,000 50,000 0
= 15,000
Al 35,000
308 NXISHHMSOIE 50,000 50,000 0
< 15,000
Al 35,000
06 W=IIZ0UEEEXS 50,000 50,000 0
Oll=21 ghote S0iuna 50,000,000& 50,000
= 15,000
Al 35,000
HOZXNoH=E WA 16,000 0 16,000
S 5,000
Al 11,000
307 2I2tol & 16,000 0 16,000
< 5,000
Al 11,000
02 2ItBAE X 16,000 0 16,000
OHeI2XT dHsu=EAME K& 16,000,000& 16,000
= 5,000
Al 11,000
snsEisgs el 1,000 0 1,000
201 LEH2HH| 1,000 0 1,000
01 AtR2t2itl 1,000 0 1,000
OSDBNLHS B4 L &2 BHFA(SL
=g 2 EYHIS) 1,000,000& 1,000
BMNE d2ed QIAHIXIZ 20,000 0 20,000
< 6,000
Al 14,000
101 el H| 20,000 0 20,000
= 6,000
Al 14,000




fA: SR
st

B BMSSHUY 75
ool BMDSIY (ol @
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
04 JIZtHIZ2E2NHEE S 20,000 0 20,000
OEMUsMEEZoIZgelAd] XI&  20,000,000& 20,000
= 6,000
Al 14,000
HY2IHH(ZR2) 7,881,980 8,310,231 A 428,251
QIARIH(BRU_ANSZ) 7,711,530 8,155,631 A 444 101
AEAH(BLU_ANSZ) 4,164,148 3,773,233 390,915
101 el 4,164,148 3,773,233 390,915
01 2=+ 150,000 100,000 50,000
O=2& duEd =¥ 50,000,000& *3H 150,000
03 RIIHAZZ XN E = 4,014,148 3,673,233 340,915
OHLEE 22 9,000,000& x12& 108,000
OWINRLEE B3 108,000,000 *4.78% 5,163
O30z 23 14,000,000& »12& 168,000
ons:sga 4,162,000,000& *0.0175 72,835
Ot EEZ 3,550,000,000& *0.02722 96,631
O& &3 64,000,000 144 896,000
OJI8a ¢ IS8 el (52) 19,715
-Jles 734,800 x1H «12& 8,818
-&0= 8,818,000& %1/3 2,940
-Jtet=a 8,818,000& *12% 1,059
—A2t2l =St 4,22021 % 1Z #22A| 2+ 1.5+ 12 1,672
5922 50,6403 x 1«2+ 12 1,216
=5 33,7603 x 14«52 1,756
-AxlRmasite=g 33,7603 x1H 17 574
—ZHS A 80,0003 x1HE«12& 960
-wE8 & 60,0003 x1E*12& 720
OANEBHIMAIR(Z2 ) 18,589
=] 734,800 x1H~12& 8,818
-& =3 8,818,000& %1/3 2,940
A2+l =G 4,220 x1H %22 A| 2bx 1.5+ 128 1,672
5222+ 50,6402 x1H 2L 128 1,216
-AXRESFIt=E 33,760 x1H+152 507
=54 33,7603 1 «52== 1,756
—H Mg AlY| 80,000 x1H «12& 960
-ws 22| 60,0003 x1H«12& 720
ORIAME(ERM) 23,052
-Jl2g 842,820 x1H +12& 10,114
-&0= 10,114,000 *1/3 3,372
-Jtat 32 10, 114,000& *10% 1,012
Al 2tel=E 5,670 x1H*22 Al 2kx1 5x12E 2,246
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2N B2

H: HHSYAH(SLD)

Sl QIS AH (BRI _AISE) (et & 2
o ol (5 - > HEAC -
SN -BH - S(B) - MRAY - BES Off &F oA il i~ o HRS

Py 58,0802 +12 22 + 122 1,304
-ARRE Y 38, 72021 %1% * 162 620
-FE4g 38, 72024 %1% x50% 2,014
e g S| 50,0002 %124 » 128 600
- B 80,0002 * 12 » 128 960
nECES 60,0002 * 1% » 128 720
ORBY SHUSE(BEHLD) 18,589
= 734,800%1 +1% + 122 8.818
L 8,818,000 +1/3 2,940
-AIRFQIAE 4,220 %1 #22A] 2tx1 54128 1,672
-sY284g 50,6409 +12 %22 +12% 1,216
RSN 33,7602 * 1% * 152 507
-FELY 33,7602 * 1% #50% 1,756
-HAZ A 80,0002 %1%+ 128 960
-DER XY 60,0002 * 124 » 128 720
022 X2 (AMSIZXD) 18,589
e 734,8002 +1% + 122 8.818
-4012 8,818,002 1/3 2,940
“AIEQIRE  4,200R%1 %2241 2h1 5+ 122 1,672
-geaeLy 50,6402 *12+22 # 128 1,216
~ARRB L 33,7602 #124» 152 507
e 33,7602 * 12 #50% 1,756
~H oAl 80,0002 * 1% » 128 960
-DEEZY| 60,0002 * 1%+ 128 720
OAQ422 U HE (2ASD) 58,810
=g 734,800 +32 122 26,453
-5012 26,453,002 +1/3 8.818
I 26,453,000 * 10% 2,646
“NRSIAY  4,200R1%3% #2241 241 5122 5,014
-fYUIeLY 50,6402 *3% 22! +12 3,647
ARSI 33, 76024 *3% * 192 1,925
-FE+Y 33,7602 *3% x50% 5,267
~H oAl 80,0002 +3% » 128 2,880
nELE 60,0002 +3% » 128 2,160
o2 B2l (424 8,589
e 734,800%1 +1% + 122 8.818
-5012 8,818,002 +1/3 2,940
SARLIAT 42002512241 2x1 5122 1,672
] 50,6402 +12 %22 +12% 1,216
ARSI 33,7602 %1%+ 152 507
-FE+Y 33,7602+ 1% #50% 1,756
~H oA 80,0002 * 1% * 128 960
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M 520
M #H2HAL(E2D)
ol QIS HE(ELT_AIER) (=
SN EY O (BH) - MRAY - BLS Aol Bl 2
Gil &t 0
-wWES2 Al 60,0003 x1H~12& 720
ONE =Dt AL (M) 18,829
== 734,800 x1H «12& 8,818
-&0= 8,818,000 %1/3 2,940
-A2t2l g 4,220 x 1Y %22 A| 2+ 1. 5+ 12 1,672
-5e2RE 50,6403 x1H 2L+ 12 1,216
-Axtmg Sit=¢ 33,7603 x1H x 15 507
=5 33,7603 x1H x52 1,756
-ZHZ A 80,0003 x1E*12& 960
-usS 24| 80,0003 x1E+12& 960
OF A2l (2 AH ) 78,412
-Jles 734,800& x4 H « 122 35,271
-& 3 35,271,000 %1/3 11,757
-Jtetg 35,271,000 *10% 3,528
-AZ2t2l =g 4,220 x 4G x22 A| 2% 1. 5+ 12 6,685
-FY22=H 50,6403 x4 +2U 12 4,862
-Asasst=g 33,7603 x4 «19 2,566
=54 33,7603 »4H x52== 7,023
-ZoHgaldl 80,0003 x4H x12& 3,840
-UEE A 60,0003 x4F x12& 2,880
O] 22l (31AH ) 23,237
-2 889,020 x1H = 12& 10,669
-&03 10,669,000& *1/3 3,557
-Jtat3d 10,669, 000& »10% 1,067
-AZ2hel & 5,1003 x 1Y #22 Al 2k 1.5+ 123 2,020
-FE22=H 61,2003 x1H 2L » 123 1,469
-Asasit=g 40,8003 x1H 16 653
=5 40,8003 » 14«52 2,122
-Zagaldl 80,0003 x1H~12& 960
-wWE2 LI 60,0003 x1H+12& 720
OSEUAAA2GET (LU SAtD) 19,505
-Jl2s 734,800 x1E+12& 8,818
-&02 8,818,000&%1/3 2,940
-Jtet 32 8,818,000& *10% 882
-AZ2hel =g 4,220 1. 5x1Hx22 Al 2+ 12 1,672
-FY2R2Y 50,6403 x1H 2«12 1,216
-AXtsasit=g 33,7603 x18+x16Y 541
=54 33,7603 x52== 1,756
-H Mg AlY| 80,0003 x1HE«12& 960
-—ws2 Il 60,0003 x1H~12& 720
OQIot =220 (S A 19,471
-Jl2g 734,800 x1H «12& 8,818
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SN B2
M HFSAFH(SLW)
el QIARAY(SLRLU_ASH)

A -3 -H2A(SH) - HEAMY - BES Off Ak OH %Egﬁ;
-& 01 2 8,818,0002 %1/3 2,940
AT 8,818,000 *10% 882
SAI2EQIA S 4,2209 %1 551 %22A| 2% 128 1,672
54224y 50,6402« 12«2 128 1,216
AR 3EIY 33,7602 x1Z 152 507
-FE4g 33,760 x 1% 525 1,756
-H o Z Al 80,0002 x1Z 128 960
-IEE XY 60,0002 x 1% 128 720

OXEBEHe| Y 2L (DUAS AL 37,174
-Jles 734,800 <2« 128 17,636
-&0i2 17,636,000& %1/3 5,879
—AZEQIS S 4,2009 1 5x2H#22A| 2t %122 3,343
-£242244 50,6402 x2H x2 2 x 122 2,431
ARSI 33,7602 x2H x 152 1,013
-FE5g 33,760 x2% x523 3,512
-~ oHgal| 80,0002 x2 % 12 1,920
-NEE XY 60,0002 x2 % 12 1,440

O3% 2 AxfH 22| (Y= 58,810
== 734,800 x3% « 128 26,453
-&02 26,453,0002 %1/3 8,818
LN 26,453,000 *10% 2,646
—NEQISS 4,22091 %1 53T x22A| 2t x 128 5,014
54324y 50,6409 x3% x22 128 3,647
-AXRIEIY 33,7602 x3Z x 19 1,925
-FE4Y 33,760 x3% 527 5,267
N oHZAlY| 80,0002 x3% 128 2,880
-NEE XY 60,0002 x3% x12& 2,160

O=€ ¢ otd B (sYsA) 18,589
= 734,800 x 1% <128 8,818
-&012 8,818,0002 %1/3 2,940
—AIZEQIAGE 4,200 %1 551 #22A| 2t %12 1,672
54224y 50,6402« 12«2 128 1,216
-AXR2 &Y 33,7602 x1Z 152 507
-FE4g 33,7602 * 1% x523= 1,756
-H o Z Al 80,0002 x1Z 128 960
-NS2 XY 60,0002 x1Z 128 720

OE2E+ (=21) 135,564
-)e3 987,580 x5« 12& 59,255
-0 2 59,255,000 %1/3 19,752
= 59,255,000 *12% 7,111
—AIZEQIEE 6,020 % 1. 555 %22 A| 2t x 12 11,920
5242244 72,240 x5 x2 U x 122 8,669
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fAM: SR
M HHSAAL(ZLD)
EHel: QSERAH (SRU_ANS) (el =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
-AXsasit=E 48,1603 x5H «18L 4,335
=5 48,1603 x5 H «52=F 12,522
e =R g Ry 60,0003 x5 x12& 3,600
- g Al 80,000 x5 x12& 4,800
-ns8 x| 60,000 x5H x12& 3,600
O=ots &2l (=2) 31,274
-Jl=g 1,156, 7603 x1E 123 13,882
-&0l=s 13,882,000 *1/3 4,628
-tz 13,882,000 *12% 1,666
A2t =G 6,990 1.5+ 1H+22A| 2+« 12E 2,769
-RYIFRE 83,880 x1H 22 128 2,014
-AXsasit=E 55,9203 x1H «18& 1,007
=5 55,9203 »1H «52=F 2,908
e AR g Ry 60,0003 x1E*12& 720
- Mg Al 80,000 x1H*12& 960
=gy u ] 60,000 x1H«12& 720
OZNedH (A=) 60,149
== 734,800 x3H 12 26,453
-&0= 26,453,000& *1/3 8,818
-tz 26,453,000& *12% 3,175
—A2t2l =St 4,220 *1 . 5+3H #22 Al 2Hx 128 5,014
-RUIRE 50,640 x3H 22 128 3,647
-AXsasit=E 50,6403 x3H «18& 2,735
=5 33,7603 x3H «52=F 5,267
- MG A 80,0003 x3E x12& 2,880
-E2 2| 60,0002 x3H 122 2,160
Osti| 2t &2 (ST H D) 18,488
-2 734,800 x1H~ 123 8,818
-a0= 8,818,000& *1/3 2,940
A2l =G 4,2202 %1 . 5% 1H*22 A1 2tx 128 1,672
-SYIfsd 50,6402 x1H 2L 128 1,216
RPN =) SOl 33,760 x1H«122 406
-FRd 33,7603 1 «52== 1,756
- A g Al 80,000 x1H «12& 960
S22l 60,0003 x1E«12& 720
ORIAHAZZ A BEFIH| 62,054,000 62,054
OFA2te] 22X ISl 1,000
-of 2= 100, 000& «5H 500
-= 28E 100,000& «54H 500
OtA0IsA (2B 23 1) 1,909,030
-Jl=g 1,150,000 *»49E «12& 676,200
-20= 264,600
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AN SR
I HN2AAY (ST
Sl QIR YU (ER_AISD) (Sl &2)
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
J| 2= 1,800, 000& *49H x4 3| *50% 176,400
324 1,800, 000& *49H x23| *50% 88,200
-H & S| 1,800, 000& x49H *250% 220,500
A2l =& 13,000 49H 10« 12& 76,440
-5eI2RE 52,200 #49H 22 x 12& 61,388
-ARa3szoY 60,000 *49% x20 58,800
-MAEASYH 70,000 x49H x 12 41,160
-Sxg2aG 90,000 x49H = 12& 52,920
- (22Y|) 50,000 x49H x12& 29,400
—SrE G 50,000& 4l BFx12& 2,400
-JIE44 42,336
b < Xt 40,0003 x»49H »0.80x12& 18,816
JIENE 20,000 *49H x2 .00+ 12& 23,520
-AEstHI XY 15,092
- S5 50, 000& *49H *25%*4 3] 2,450
- )SEHM 430,000& x49H x 15%*4 3| 12,642
S g Al 160,000& 49 «12& 94,080
-JFHI 2 X4 110,000 *49YH = 12& 64,680
=R = sl 1,800, 000-& *49H *120% 105,840
-WEEXH| 140,000 *49H « 12& 82,320
-1l =Hl 20,874
- 2HI(1g/4) 60,000& x49H 2,940
moi= (5=, 4/5)
140,000 *2'H x49H 13,720
S ESH(1g/d) 53,000& x49H 2,597
S 2X(g/E) 20,000& »49H 980
- A2H(1208/49) 13,000& *49H 637
LHEQHH(ER2L_ASH) 3,547,382 4,382,398 A835,016
303 EAZ 1,371,000 1,705,247 N 334,247
02 a3 1,371,000 1,705,247 N\ 334,247
Odatd= 1,371,000
-8k 1,340,000,000& 1,340,000
-HAZE 31,000,000& 31,000
304 A2 REEL2S 2,136,382 2,637,151 500,769
01 =282 1,507,702 2,075,281 AbB67,579
o282 6,718,353,000& *8.5% 571,061
Ol &Y 2= 6,718,353,000& *5.3005% 356,107
OBNZ 6,718,353,000& *8.420% 565,686
OMai2s 2= 6,718,353,000& *0.221% 14,848
02 =200AHLUESEZ 628,680 561,870 66,810
OHAdEE 22 50,000,000& x12& 600,000
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